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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Odia Language

Q2860709 ‘Q@QE IRGQ FAVIGIR IR K€l ?

A) 299

B)_zsea
C) 2RSNEI
D) 2206

Q2860839 GEIRYE TUIQ 62LG ‘AAT IR AMIAUIGT SR 2

A) 6219
B)_QlgQ
C) 6aa1

D) ssoa

Q2860791 GEIRYE FRIQ 62L6 ‘AR’ FRQ IANG §R ?

A) 29Q
B) G8Q
C)_Gesa
D) dae

Q2860736 QEIRAGE FRIQ 6RAG FIERIGIRY FEATY 216% ?

A)_6Q1@
B) Q@U@
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C) 99
D) &

Q2860728 ‘T AGIF QRTR 22 9’8 ?

Score Obtained : 1.0/ 1.(
A) SR quoal
B) fig @2l

C)_canuae
D) dIFl QK6 I8 @A

Q2860730 ‘YR IRAIQ (G- QETQ el @' ?

Score Obtained : 1.0 / 1.(
A) o4
B)_gnueie

C) 21Qry
D) Qée

@s63113 AFERAF IR 66Q ILG 8 FIRYE g9 geeq 0K @ea QI8g|

AIGQ 649 639409, SI10, AIGAR 6 6508 ARG IQ° RIG AUR FAAN, G AR
ARSI ISt 6Q@2IR | TR WA FER AANGIQ ARE AGAIR ARG PIFCRA U ATFR
QIR FQde c2IRAINM | 9919 AIBARIRS Fl ZRIAIGR B6Yl Gl A1 eRIRIGAIE 986
2IRFIRG SRR F6M CAAIER 6QYAR 69 ANIGIQ 2l @6l 6 GrQ (Y 696672 FaR
ARER B AR YUIEA IR FIFNAFA YT AQICIQ AIRE AR §R Al | 2ICACUEH JIT1R
EQUETIE B g1 ARIBIER 69¢AIR CIR 69, AIGTA 6TFAR ARG 6AFIRET AAIGIQ 2G4
Q6Q ARCIEIC 62RYR | 6T YRl GIF ARYGIA 2AIGE, YIPTR Fala ARYG! F1I 6ATQINER
A9YISNS AIg NIQW1E ARIC! Yl 2R JRIQ | NNG1A ARSI 21Q4 Yl Q49 B AL
| AT 6QFLR FBIRY 6A76R TR 629 6QIn VIGYEM | AT 6@ ARG 64T
QUIEIE 60R AAQ 62IRYRI | T30 AR QLTS ed AIeG1a AR ald A@e
QY QAR | HISI C1IGI6Q QTG 62IR 6UEGERER 64 FAAA ARG 4, 69666Q6R
SRISAISIFINT S1B0IQ SR 92 Agd FaR 6ARAAN |

02863167 ‘ARG Q ANGERQ F6M 699 -

Score Obtained : -0.25/ 1.(

A)_RQ + Q%
B) @8 + R0
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C) Q@ + 9%
D) QR + RG

[ R T T N T R W W T e T W o W R W e W VW PO T ¥l IV IV

563168 ‘QUAHAR = 65TAR’ - YOIER 60R 2I6R ‘AR’ JoUL: 62IRE?
Scor

A) 9@ 286Q

B) Qg% 2eiea

) AUAL 26Q

D)_90%! 26

863166 VIQBILFNER QLI FAIQ QIQE 6QIM VIQEIEM?

Sc
A) AR QM9
B) A 6P ARCY
) AR 676 andq
D)_Qedy 63909 *8I1Rq

Qs63161 GRUFIEE B 1A ARUBIQ AR A6 @€l JAQSIC 6LRAMI?

Sc

A)_QIQ019 6599@ Qa6
B) AQUGIQ Q2G

C) RGP ARG

D) AL QARG

Q863165 RIQDC ARSI QG X'l RI?

Sc

A)_QNIGl 8 2Iag]

B) FI1LPIQ VIRFIEQ QLA
0) JREAFAIRT Q@

D) A°YEY AR 6QHIAR!



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

02860836 FERYE FIQ 629G ‘YR’ FUAIGILR 9% 266 ?
Score Obtained : 1.0/ 1.0
A) UQR
B) 2I19@
C)_aqa
D) Q°q@

Q2860766 QW+G=?
Score Obtained : -0.25/ 1.0

A)_QQ
B) 98
C) gqas
D) g¥e

Q2860827 698 Q6STY Qaq 69Y @I A6 @EGY , GITIg @ FEATY QRIAIN ?

Score Obtained : -0.25/ 1.0
A)_6R19124
B) 2@ Q1o

C) gecee
D) GIR1%

Q2860816 ‘AR @ QAIY’ QRG22 @'4 ?
Score Obtained : 1.0/ 1.0

A)_Gesaiq ag
B) Q@&IQ 694Gl
C) @& g5l

D) 62IQ 49!

English Language

Q2860163 In each of the questions below is a sentence followed by 4 idiomatic expressions. You are required to
choose which one could be used in the sentence.
The teacher was very happy when the naughtiest boy in the class had moved away.
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A) A bigger bang for your buck

B) A chip on your shoulder

g)_Good riddance to bad rubbish

D) Give someone the benefit of the doubt

Q2860255 Choose the antonym of the underlined word.
The flood affected people were evacuated.

Score Obtained : -0.25 /1

A) Established
B) Extracted
C)_Buried

D) Dislodged

Q2860224 Rearrange the jumbled words to form a meaningful sentence:
into/stadium/the/fans/are/packing/thousands/of

Score Obtained : 1.0/ 1
A) Packing into the stadium are thousands of fans.

B)_Thousands of fans are packing into the stadium.
C) Into the stadium fans are packing of thousands.
D) Fans are packing thousands of into the stadium.

Q2860184 Select the option that is grammatically and logically the most appropriate form of the sentence given:
We are the only adult members on our family off four.

Score Obtained : -0.25/ 1
A) We are the only adult members on our family of four.

B) We are the only adult members in our family of four.
C) We are a only adult member in our family off four.
D)_We are an only adult member on our family off four.

Q2860204 Change the voice of the following sentence: A tourist finds the Australian sea coast wonderful to
travel.

Score Obtained : 1.0/ 1
A) To travel for a tourist the sea coast of Australia is wonderful.

B)_The Australian sea coast is found to be wonderful to travel by a tourist.
C) A tourist finds it wonderful to travel on the Australian sea coast.
D) For a tourist, the sea coast of Australia is a wonderful travel.
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Q2860248 Identify the synonym of the italicised word:

The enhanced growth rate of Indian economy is far better than that of Pakistan.
Score Obtained : 1.0/ 1.0
A) Gifted

B)_Improved
C) Minimised
D) Flattered

Q2860268 Fill in the blanks with the correct option:
Neither of passed the qualifying exam.

Score Obtained : 1.0/ 1.0

A) Those
B) Whose

g)__Them

D) Whom

Q2860160 Given below is a sentence/phrase followed by four words. Choose the one that best describes the
sentence/phrase.
A cause of harm or damage

Score Obtained : -0.25/1.0

A)_Disparate
B) Deterrent

C) Detriment
D) Dissident

Q2860218 Which of the segment(s) has/have errors: [a] Penalty for dangerous driving [b] would be decreased to

Rs 5,000 from Rs 1,000, [c] while drunkun driving under the [d] proposed old law would attract a fine of Rs
10,000.

Score Obtained : -0.25/ 1.0
A) b
B) ¢
C)aé&c

D) b,cad

Q2860065 Read the passage carefully and answer the questions given below it:

httne:liranarte marittrarnarikeha ramirnednhirmmelracranat nhn?2/anid=18R1NRAGAR a~r=ANAATT F2220Q17 RI24
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A well-known mythical creature is the yeti. For fifty years the snowy wastes of the Himalayas have
beckoned intrepid explorers in search of the mysterious animal also known as ‘the abominable
snowman’. Occasional sightings of large hairy creatures walking on two legs across the snows or in
the forested valleys of Nepal and Tibet have kept the legend alive. Conclusive evidence of the
creature’s existence has proven elusive, however. The picture of a large, wide footprint, taken by Sir
Edmund Hillary in 1951 while climbing Mount Everest, proves nothing.

Since that time a number of yeti ‘relics’ have turned up. In 1960, western visitors to a Nepalese
monastery were astonished to find monks using a ‘yeti scalp’ in some of their rituals. Analysis of the
red hairs, however, showed that they had originated from a mountain goat. A different monastery
presented a severed hand, obviously from a primate, as evidence that some kind of ape man was still
wandering the mountain fortresses of the Himalayas. The hand could, of course, have come from
anywhere — and it vanished in 1991. Finally, there have been rumours, started by travellers, of huge
mummified bodies of yeti preserved in even more remote monasteries. These turned out to be fakes
or were no longer where they were supposed to be. However, belief in the existence of the ‘wild man
of the snows’ is still real enough among the locals. What could account for this?

A popular theory among zoologists is that the idea of the yeti is based upon handed-down memories
of apes, possibly orang-utans, which may have lived in the mountain forests of this region in the
distant past. Some argue that a few of these apes still survive in small numbers, just occasionally
spotted crossing a snowfield from one valley to another. Reinhold Messner, one of the world’'s
foremost mountaineers, believes that the legend is based upon a real but little-known animal that
inhabited the forests of eastern Tibet. This was the area the Sherpas once lived in before migrating to
present-day Nepal, so they may have taken with them their traditional stories.

Q2860069 'Relics' as used in paragraph two means

Score Obtained : 1.0/ 1.0

A) a painting available from an earlier time
B) an asset handed over from an earlier generation

g)_an object surviving from an earlier time
D) a story surviving from an earlier time

Q2860070 All of the following theories have been put forward to explain belief in this legend EXCEPT
Score Obtained : -0.25/ 1.0

A) It emerged as facet of Western popular culture after the first sighting of the Yeti.

B)_The locals have memories of apes that lived in the distant past that have survived generations.

C) Others have expressed the view that have actually seen these apes moving from one location to another.
D) Messner claims that the Sherpas migrated with the stories of actual animals they had seen in the past.

Q2860068 The locals tried to keep the legend of the Yeti alive by doing all of the following except? They ....

Score Obtained : -0.25/ 1.0

A) Presented a severed hand from a primate as evidence that the yeti exists.

Pl o o B e o M e o ol o b o A e e e e ek P AFAAARAAAD - . AAAAATT AAAAdT -
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B) Attempted to pass off mountain hairs from a goat as 'yeti scalps' in their rituals.
C)_Spread rumours of huge mummified bodies being located in remote monasteries.

D) Carried out their own searches to establish proof of its existence.

Q2860066 The Yeti is 'well known'. Which of these statements does not correspond with this description?

Score Obtained : -0.25/ 1.0

A) Occasional sightings of the creature have made him a legend.
B)_Edmund Hillary's picture has been studied as evidence.
C) Explorers have gone searching for him for fifty years.

D) The Yetiis a large hairy creature walking on two legs.

Q2860067 What is another meaning of the word 'elusive' as used in paragraph one?

Score Obtained : -0.25/ 1.0

A) ambiguous
B)_paradox
C) problem
D) enigma

Q2860132 You will find a sentence using direct speech (words actually spoken) followed by four options. You are
required to choose the one that is the correct form of the sentence in indirect/reported speech
John said, "Do not worry about what you cannot control; focus your energy on what you can create."

Score Obtained : 1.0/ 1.0

A) John said that we should not worry about what we cannot control, we should focus our energy to what we
can create.

B)_John said that we should not be worried about what we cannot control, we should focus our energy on
what we can create.

C) John said that we should not worry about what we could not control, we should focus our energy to what
we could create.

D) John said that we should not worry about what we could not control, we should focus our energy to what
we can create.

Current Affairs and General Knowledge
Q2859527 Who among the following designed the National Flag of India, which was adopted during the meeting of the
Constituent Assembly on 22nd July, 194772

Score Obtained : 1.0/ 1.0

A) Mahatma Gandhi
B) Bal Gangadhar Tilak

g)_PingaIi Venkayya
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D) Madam Bhikaji Cama

Q2859487 With reference to the Constitution of India, what is the meaning of ‘Doctrine of Double Jeopardy’?

Score Obtained : 1.0/ 1.0

A) A person must be punished only once even if the same crime is repeated
B) A person must be punished only for one offence even if he has committed multiple offences
C) A person can be prosecuted and punished any number of times for the same offence

D)_A person cannot be prosecuted and punished for the same offence twice

02859298 Who among the given cricketers was awarded the ICC Spirit of Cricket Award of the Decade?

Score Obtained : -0.25/ 1.0

A) Ravindra Jadeja
B) Rashid Khan
C)_Virat Kholi

D) m.s.Dhoni

Q2859364 Kakrapar Dam and Ukai Dam are located on which of the following rivers in India?

Score Obtained : -0.25/ 1.0

A) Sabarmati
B) Krishna

C) Tapi
D)_Gomti

Q2859362 Eravikulam National Park is located in which of the following states of country?

Score Obtained : -0.25/ 1.0

A) Kerala

B) Telangana
C) Tamil Nadu
D)_Karnataka

Q2859394 Which of the following statements is FALSE with regards to the features of Subsidiary Alliance system
introduced during British rule in India, that was planned by Lord Wellesley?

Score Obtained : -0.25/ 1.0

A) The Subsidiary state had to have a British official, called the Resident at his court

B)_The state entering the Subsidiary alliance could not declare war against a third power without the
permission of the British Company
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C) The British Company is not responsible to protect the Subsidiary state against any foreign attack or
internal revolt
D) The state entering the Subsidiary alliance was to pay the maintenance of the British contingent

Q2859522 Who among the following was the President of the Constituent Assembly of India in 19477
Score Obtained : 1.0/ 1.0

A)_Dr. Rajendra Prasad

B) Chakravarti Rajagopalachari
C) Pt. Jawaharlal Nehru

D) Dr. B. R. Ambedkar

Q2859426 The famous Khajuraho temples were built by the rulers of which dynasty?
Score Obtained : -0.25 /1.0

A) Chandela dynasty
B) Gupta dynasty

C)_Rashtrakuta dynasty
D) Satavahana dynasty

Q2859392 Who among the following was defeated in the Battle of Plassey in 17577

Score Obtained : -0.25 /1.0
A)_Lord Clive
B) Akbar

C) siraj ud-Daulah
D) Col Watson

Q2859363 Which of the following cities are situated on the bank of Yamuna river?
Score Obtained : 1.0/ 1.0
A) Kannauj, Kanpur Contonment, Shuklaganj, Chakeri

B) Allahabad, Badrinath, Haridwar, Kanpur, Patna
C) Varanasi, Farrukhabad, Fatehgarh, Hajipur

D)_Agra, New Delhi, Mathura, Auraiya, Etawah

Q2859500 In India, we have governments at the state level, at the centre and at the Panchayati Raj level. Which
among the following refers to the existence of more than one level of government in the country?
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A) Communism

B)_Federalism
C) Sacialism
D) Secularism

Q2859352 Which of the following National Parks in India hosts two-thirds of the world's great one-horned
Rhinoceroses and more than half of the world population of the Wild Asiatic Water Buffalo?

Score Obtained : 1.0 /

A)_Kaziranga National Park
B) Gir National Park and Wildlife Sanctuary
C) Sundarbans National Park
D) Jim Corbett National Park

02859447 The President of India must consult who among the following before appointing the Governor of a
State?

Score Obtained : 1.0 /

A) Chief Justice of India
B) Chief Election Commissioner of India

Q)_Chief Minister of the concerned State
D) Vice President of India

Q2859300 The 39th ASEAN virtual summit is held in which of the following locations?
Score Obtained : -0.25 /

A) Brunei
B)_Hanoi
C) Laos
D) Jakarta

Q2859396 Who among the following political leaders founded the organization 'Servants of India Society' in
19057

Score Obtained : -0.25 /

A) Dadabhai Naoroji
B)_Bal Gangadhar Tilak
C) Lala Lajpat Rai

D) Gopal Krishna Gokhale
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Q2859464 According to the Indian Constitution, which of the following Articles deals with Right to freedom of
speech and expression?

Score Obtained : -0.25 /

A) Article 22
B)_Atrticle 24
C) Article 18

D) Atticle 19

02859506 Who appoints the Chief Election Commissoner and other Election Commissioners in India?

Score Obtained : 1.0 /

A)_The President of India
B) The Governor of India

C) The Chief Justice of India
D) The Prime Minister of India

02859303 Which state won the 'Best State Tableau of Republic Day parade 2022'?

Score Obtained : 1.0/

A) Karnataka
B) Maharashtra
C) Gujarat

D)_Uttar Pradesh

Q2859445 According to Constitutional 73rd Amendment Act, 1992, which of the following states of India does
NOT have Panchayati Raj Institution?

Score Obtained : 1.0 /

A)_Nagaland

B) Himachal Pradesh
C) Odisha

D) Gujarat

Q2859239 Who among the following took charge as the Chief Election Commissioner of India in April 20217

Score Obtained : 1.0/

A) Sunil Arora

B)_Sushil Chandra
C) Achal Kumar Jyoti
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Tewiee, T v

D) Om Prakash Rawat
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Logical Reasoning

Q2859779 Indicating Shilpa, Asima said, “She is the daughter-in-law of the grandmother of my father’s only son.” How is
Shilpa related to Asima?

Score Obtained : 1.0/ 1.0

A) Daughter

B)_Mother
C) Aunty
D) Sister

Q2859884 An image is made from multiple geometric figures (marked with numbers). In the image, some regions
are formed. In each of these regions, as many dots are to be placed as the number of geometric figures that
has this as a part of it. In total, how many dots will be placed in the image?

o)
I/

Score Obtained : -0.25/ 1.0
A)_14
B) 12
C) 8

D) n

Q2859643 The next number in the sequence 45687909, 4568790.9, 456879.09, 45687.909, 4568.7909,
456.87909, ........ is

Score Obtained : 1.0/ 1.0
A) 45.6897909
B) 45.6789909
C) 456.87909

D)_45.687909

Q2859654 The population of a village is 18,600. If it increases by 10% annually, then what will be the population
of the village after 2 years?

Score Obtained : 1.0/ 1.0
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A) 22,546
B) 21,345
C)_225506
D) 32,245

Q2859703 How many whole numbers between 0 and 10 have exactly two factors?

Score Obtained : 1.0/ 1.0
A) Three
_B)_Four

C) Five
D) Two

Q2859716 A number is coded as the sum of distinct digits present in it. For example, 4832 is coded as 17, 7713
is coded as 11 and 555 is coded as 5. Based on this information, answer the question below: For which of the
following numbers, its code will be a prime number?

Score Obtained : -0.25/ 1.0

A) 4781
B) 7812
C)_63394

D) 911234

Q2859781 Suman said, “Subir's mother is the only daughter of my mother.” How is Suman related Subir?

Score Obtained : -0.25/ 1.0
A)_Brother
B) Maternal Uncle

C) Father
D) Grandfather

Q2859756 In a certain code language,
“‘time is precious” is written as “er ui af’

“time management is important” is written as “af jk op ui”
“‘management technique is used” is written as “cv af bn op”
What is the code for “precious” in the given code language?

Score Obtained : 1.0/ 1.0

A) bn
B) cv
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C) op
D)_er

Q2859744 If in a certain code language, “LIFE” is written as “6294” and “DEATH” is written as “74018". What
group of letters can be formed for the code “2106489"?

Score Obtained : 1.0/ 1.0

A) ITALHEF

B)_ITALEHF
C) ITAELHF
D) ITALFHE

Q2859701 Area of triangle A is X sq. units. Triangle B is drawn such that the sides of triangle B are half of that of
triangle A. What is the area (in sq.units) of the triangle B in terms of X?

Score Obtained : 1.0/ 1.0
A) X/2

B) x4
C) 2X
D) 4X

Q2859783 When Manoj saw Raju, he recalled, “He is the son of the father of the mother of my daughter.” How is Manoj
related to Raju?

Score Obtained : 1.0/ 1.0

A)_Brother—in-law
B) Father-in-law
C) Son-in-law

D) Grandfather

Q2859668 An ore contains 24% iron. How many kilograms of the ore is required to get 96 kg of iron?
Score Obtained : 1.0/ 1.0
A) 200 kg

B) 350 kg
C) 250kg

D)_400kg

Q2859857 If 'Marigold' is related to 'Yellow', then 'Jasmine' is related to
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A) Orange
B) Black
C) Red

D)_white

Q2859593 The next number in the sequence 41, 47, 59, 67, 73, is
Score Obtained : 1.0 / 1.

A) 89
B) 79
C)_s3
D) 91

Q2859711 If 6171628 is coded as FAGAFBH, then how will 673473582 be coded as?
Score Obtained : 1.0/ 1.

A) FGCDGDFHB
B) FGCDHCEHB

C)_FGCDGCEHB
D) FGCDGCFHB

Q2859891 An image is made from some geometric figures. In the image, some regions are formed. In each of
these regions, as many dots are to be placed as the number of geometric figures that has this as a part of it.
One of these regions is marked with number 1. How many dots will be placed in region 17?

_/

Score Obtained : -0.25/ 1.
A) 1
B) 2

)3
D) 4

Q2859803 If P is Q's sister, R is the mother of Q, S is the father of R while T is the mother of S. How is P related to S?
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A) Grand Daughter
B)_Grand Mother

C) Mother

D) Daughter

Q2859628 The next number in the sequence 24, 28, 32, 36, 40, 44, 48, ....... is

A) 54
B) 49
C) 52

D) 56

Q2859864 If 'Nose' is related to 'Smell', then 'Tongue' is related to

A)_Taste
B) Hear

C) Speak
D) Ssee

Q2859590 The next number in the sequence 520, 738, 1010, 1342, is

A) 1645
B) 1467
C) 1534

D)_1740

Computer Fundamentals

Q2860534 What does ¥ symbolise in MS Excel?

A) autoformula
B) autofill

g)_autosum

D) autogradient

Q2860373 What is the shortcut to Open Settings in Windows 107
https://reports.merittracpariksha.com/rpsdob/rps/resreport.php?canid=3581064998ac=A033877_E233917
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A)_Win +S
B) Win+T
C) Win+J

D) win+1

Q2860400 Which of the following is a videoconferencing tool that allows users to send and receive sound and
pictures simultaneously over the Internet?

Score Obtained : 1.0/ 1.0

A)_Skype
B) Outlook
C) Gopher
D) Internet Relay Chat

2860468 Windows OS is a product of which company?
Score Obtained : 1.0/ 1.0
A) Google

B) sun
C) Apple

D)_M icrosoft

Q2860396 In which department project, the Internet began as ARPAnet to create a nationwide computer network
that would continue to function even if a large portion of it were destroyed in a nuclear war or natural disaster?

Score Obtained : 1.0/ 1.0

A)_U.S. Department of Defense
B) Department of UA.E

C) U.S. Department of Computers
D) Department of U.K

Q2860514 Which of the following extensions is used for MS Excel 20077
Score Obtained : 1.0/ 1.0

A) .accdb
B) .docx

g)_.xlsx

D) .pptx
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Q2860378 Match the following

a. Paste i. Ctrl + C

b. Print ii. Ctrl + X
c. Copy iii. Ctrl +V
d. Cut iv. Ctrl + P

A) a-iv, briii, c-ii, d-i
B)_aiii, b-iv, c-i, d-ii
C) a-ii, b-i, c-iv, d-ii
D) a-iv, biii, c-i, di

Q2860375 What is the shortcut to Select all items on the Desktop or File Explorer ?

A) Alt+A

B)_cti+A
C) Win+A
D) Shift + A

Q2860427 Which one of the following is a kind of smart phone operating system?

A)_Mac
B) Symbian

C) Windows XP
D) UNIX

Q2860471 Which operating system is designed by Apple?

A) Android
B) Linux
C) Windows 7

D)_Mac 0S

Q2860308 Dot Matrix Printer is a/an
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A) Memory device
B) Processing device

C) Input device

D)_Output device

Q2860402 Which combination from the below option forms a valid Email address?
Score Obtained : 1.(
A) domain and the serverName

E)_userName and the domain

C) userName and the serverName
D) userName and computerName

Q2860507 Which of the following extensions is used for MS Access?

Score Obtained : 1.(
A) .pptx
B) .docx

g)_.accdb

D) .xisx

Q2860309 Scannerisa/an
Score Obtained : 1.(
A) Memory device

B) output device

g)_lnput device

D) Processing device

Q2860320 Which type of applications store numeric data that can be used in calculations by writing few
formulas?

Score Obtained : 1.(

A) Word processing
B) Database software

Q)_Spreadsheets
D) Desktop publishing

General Science
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Q2858977 How does a catalyst increase reaction rate?
Score Obtained : -0.25/ 1.(
A) By decreasing the energy difference between product and reactant

B) By increasing the activation energy barrier

C) By decreasing the activation energy barrier

D)_By increasing the kinetic energy of the colliding molecules

Q2859209 What is the velocity of light in water if 15 m deep tank appears to be only 10 m deep? Velocity of light in air is
3x108 mys.

Score Obtained : -0.25/ 1.(

A)_2.5x108 m/s
B) 1.5x108 m/s

C) 208 ms

D) 3x108 m/s

Q2859049 Which of the following options is an example of division Bryophytes in plants?
Score Obtained : -0.25 / 1.(
A) Selaginella

B)_Salvinia
C) Femn

D) Mosses

Q2858913 Cephalosporin is an antibiotics commonly referred to as
(i) B-lactam antibiotics

(ii) Broad spectrum antibiotics

(iii) Antipyretic

(iv) Arsenicals

Score Obtained : -0.25/ 1.(

A)_(i) and (iii) only
B) (ii)and (iv) only
C) (iii) and (iv) only

D) (i) and (ii) only

Q2859089 Which of the following is an external factor that affects photosynthesis?
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A) Leaf anatomy
B) Chlorophyll
C) Plant hormones

D)_Sunlight

Q2859005 What is the primary mineral the enamel of teeth made of?

Score Obtained : 1.0/ 1.0
A) Sodium phosphate
B) Sodium sulphate

Q)_Calcium phosphate
D) Calcium sulphate

Q2859194 Sound travels fastest in which of the following mediums?
Score Obtained : -0.25/ 1.0
A) Water

B) Oxygen
C)_Air

D) steel

Q2859088 Diaphragm is a thin skeletal muscle that sits at the base of the chest and separates the abdomen from the
chest. Which of the following options is INCORRECT about the “Diaphragm” of a human body?

Score Obtained : -0.25 /1.0

A) ltis a primary muscle of respiration
B)_ltis a muscle which separates the abdominal and the thoracic cavities

() Itis a dome-shaped muscle

D) It is the most powerful muscle of the human body

02859034 Which of the following options are examples of homologous organs?
Score Obtained : 1.0/ 1.0
A) Leaves of plants and cladodes of Ruscus

B) Fins of fish and flippers of whale

_(:)_Tendril of Cucurbita and thorn of Bougainvillea
D) Wings of birds and insects

Q2858995 What is the function of the enzyme pepsin?
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Score Obtained : -0.25/ 1.0

A)_It helps digest the carbohydrate in food

B) It breaks lactose into glucose and galactose
C) It helps digest the proteins in food

D) It synthesizes DNA from deoxyribonucleotides

2859208 A ray of light is incident at an angle of 40°. What is the angle of refraction when it is travelling from air to glass?
[ng=1.5]

Score Obtained : -0.25/ 1.0

A) 70.39°
B) 52.45°

C) 2536

D) 35.36°

Q2859032 Which of the following is grown by natural vegetative propagation by bulbs?
Score Obtained : -0.25/ 1.0
A) Begonia
B)_Doob Grass
C) Bryophyllum

D) caric

Q2858921 A chemical used as an oxidising agent in hybrid fuel for rocket is

Score Obtained : 1.0/ 1.0
A) Air
B)_Dinitrogen tetroxide

C) Hydrogen peroxide
D) Sulphur dioxide

Q2859211 How can 2Q), 2Q and 3Q be arranged such that the resultant resistance is 4Q7?

Score Obtained : 1.0/ 1.0

A) 3Q and 2Q in parallel and 2Q in series
B) 20, 2Q and 3Q in parallel

Q)_zo and 2Q) in parallel and 3Q in series
D) 20, 2Q and 3Q in series
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Q2859185 Which of the following is an example of a motion with uniform speed and non-zero acceleration’

Score Obtained :
A) A fired bullet

B) An apple falling from a tree

Q)_A satellite in its orbit
D) A pendulum bob
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